/*****************************************
AR — 7 — FEENRA R 7y 5
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201935 Ly P4 vR—%—

*****************************************/

//Sample using LiquidCrystal library
#include <LiquidCrystal.h>
#include <Boards.h>

#include <Firmata.h>

#include <Servo.h>

#include <MsTimer2.h>

/*select the pins used on the LCD panel
led Dffio T3 v s
LiquidCrystal(rs, enable, d4, d5, d6, d7)
rs: LCD @ RS ¥ v ic#6t 3 % Arduino fllo v v %5
rw: LCD ® RW v v Iic##i 3 % Arduino fllo v v &5
enable: LCD ® enable ¥ v IZ$#5¢ 3 % Arduino fllo v v F5
d0~d7: LCD o data ¥ v iC$#¢ 3 % Arduino fllo v v #H5

do~d3 347> a v, BT L 4RDT =274 v(dd~dD T ChifL 3, */
LiquidCrystal 1cd(8, 9, 4, 5, 6, 7);

// define some values used by the panel and buttons

int pushbutton = 0;

/9
Servo myservol;

Servo myservoZ2;

const int SERVO10OPEN = 126; //OPEN & CLOSE 233 126
const int SERVO1CLOSE = 40;

const int SERVO20PEN = 122;//122

const int SERVO2CLOSE = 36;

[/ 52—

int pattern = 0;

long INMainpattern = 0;
long OUTMainpattern = 0;
int INServopattern = 0;

int OUTServopattern = 0;

/*I=1IN



O=0UT
cnts = second
cntm = minute
SRR/
int Ients = 0;
int Ientm = 0;
int Ocnts = 0;

int Ocntm = 0;

/ /R ET R
unsigned long InIntervalTime = 0;

unsigned long OutlntervalTime = 0;

/ /W]
unsigned long icnt = 0;
unsigned long ocnt = 0;

unsigned long cnt = 0;

/ /W5 % DAt

int IentIN = 0;

int OcntOUT = 0;
unsigned long OT = 0;
unsigned long I'T = 0;

//processing A H 5

int outTime_m = 0; // OUT = — R:4y

int outTime s =0; // OUT 22— x:#

int outTime ¢ =0; //OUT a2 —x:3 V¥
intinTime m=0; //IN 2—2x%
intinTime s=0; //IN 2—Xx:/
intinTime ¢c=0; //INa2—x:3 )

unsigned int Time_m; [/ FHEX A =57
unsigned int Time_s; /] HHEX A <
unsigned int Time_c; /] LA <2 TH

[/ %A ~—2R 2 JEH 3 HH
int secondOTIME = 0;

int secondITIME = 0;

int secondOcntM = 0;

int secondOcntS = 0;

int secondlentM = 0;

int secondlcntS = 0;



//E#

#define LEFT 0
#define UP 1
#define DOWN 2
#define RIGHT 3
#define SELECT 4
#define NONE 5

//LCD % =%y Fo = F 24 v 5 AT
#define analogswitch AQ

/e —

#define sensorl 2 //141
#define sensor2 17 //1 41D
#define sensor33  //241
#define sensord 18 //2 41D
int sensorinl;

nt sensorin?;

int sensorin3;

int sensorin4;
//A0~A5—D14~D19 Z#r]fE
volatile int sens1;

volatile int sens2;

// read the buttons
int button() {

pushbutton = (analogRead(analogswitch) / 4);
if (pushbutton >= 240) return NONE;//240
if (pushbutton < 20) return RIGHT;//20

if (pushbutton < 70) return UP;//70

if (pushbutton < 120) return DOWN;//120

if (pushbutton < 170) return LEFT;//170

if (pushbutton < 240) return SELECT;//240

//return NONE;

/************************************************************************

TIMER2 AL

************************************************************************/

void Timer2_Int()
{

static int cnt10;



InIntervalTime++;
OutlntervalTime++;
cnt++;

cnt++;

ocnt++;

// 10ms J& A o WL
cnt10++;
if (ent10>=10) {
Time c++;
if ( Time_c>99) {
Time_s++;
Time_c = 0;
}
if (Time_s >59) {
Time_m++;
Time_s = 0;
}
if (Time_ m>9) {
Time_m = 0;
}
cntl0 = 0;

void Sensor1() {//1
if (digitalRead(sensorl) == HIGH) {

sensl = 1;

}

if (digitalRead(sensorl) == LOW) {
sensl = 0;

}

void Sensor2() {//2
if (digitalRead(sensor3) == HIGH) {

sens2 = 1;

}

if (digitalRead(sensor3) == LOW) {
sens2 = 0;

¥



void MainIN(Q) {

Sensor2();

pattern = button(); // read the buttons

switch (INMainpattern) {

case 0:

secondlcntM = 0;
secondlcntS = 0;
secondITIME = 0;
inTime c = secondITIME;
inTime_s = secondlcntS;

inTime m = secondlcntM;

INServopattern = 1;

if (pattern == UP) {
icnt = 0;
INServopattern = 0;
INMainpattern = 10;// K& H
break;

}

/*if (pattern == DOWN) {
icnt = 0;
INMainpattern = 500;// 7 V —&E1TH
break;
3/

break;

case 10:// A X v 4
secondlcntM = 0;
secondlcntS = 0;
secondITIME = 0;
inTime_c = secondITIME;
inTime_s = secondlcntS;
inTime m = secondlcntM;
if (pattern == LEFT && icnt >= 1000) {
icnt = 0;
INServopattern = 1;
INMainpattern = 20;
break;

}

break;

case 20:/ /57l
if (sens2 == 1 && icnt >= 3000) {



icnt = 0;
INMainpattern = 21;/ /58 UL
break;

}

if (pattern == RIGHT && icnt >= 1000) {
icnt = 0;
INServopattern = 0;
INMainpattern = 50;
break;

}

break;

case 21://i@1#
secondlentM = Time m;
secondlcntS = Time_s;
secondITIME = Time_c;
inTime c = secondITIME;
inTime_s = secondlcntS;
inTime _m = secondlcntM;
if Gent>=1) {
icnt = 0;
INMainpattern = 20;
break;
}
break;

case 50://#& T
if (pattern == RIGHT && icnt >= 1000) {
icnt = 0;
INMainpattern = 10;
break;
}
break;

void MainOUT() {
Sensor1();
pattern = button(); // read the buttons
switch (OUTMainpattern) {
case 0:
secondOcntM = 0;
secondOcntS = 0;



secondOTIME = 0;
outTime ¢ = secondOTIME;
outTime_s = secondOcntS;
outTime _m = secondOcntM;
OUTServopattern = 1;
if (pattern == UP) {
ocnt = 0;
OUTServopattern = 0;
OUTMainpattern = 10;// K&H
break;
¥
/* if (pattern == DOWN) {
ocnt = 0;
OUTMainpattern = 500;// 7 V —EfTH
break;
3/
break;

case 10:// A X v 4
secondOcntM = 0;
secondOcntS = 0;
secondOTIME = 0;
outTime c = secondOTIME;
outTime_s = secondOcntS;
outTime m = secondOcntM;
if (pattern == LEFT && ocnt >= 1000) {

ocnt = 0;
OUTServopattern = 1;
OUTMainpattern = 20;
break;

}
break;

case 20:/ /575

if (sensl == 1 && ocnt >= 3000) {
ocnt = 0;
OUTMainpattern = 21;//;8E QLI
break;

}

if (pattern == RIGHT && ocnt >= 1000) {
ocnt = 0;
OUTServopattern = 0;
OUTMainpattern = 50;



break;

}
break;

case 21:/ /i@
secondOcntM = Time_m;
secondOcntS = Time_s;
secondOTIME = Time c;
outTime c = secondOTIME;
outTime_s = secondOcntS;
outTime _m = secondOcntM;
if (ocnt>=1) {
ocnt = 0;
OUTMainpattern = 20;
break;
}
break;

case 50://#&T
if (pattern == RIGHT && ocnt >= 1000) {
ocnt = 0;
OUTMainpattern = 10;
break;
}
break;

void Servol() {
switch (OUTServopattern) {
case 0:
myservol.write(SERVO10OPEN);
break;

case 1:
myservol.write(SERVO1CLOSE);
break;

void Servo2() {
switch (INServopattern) {

case 0:



myservo2.write(SERVO20PEN);
break;

case 1:
myservo2.write(SERVO2CLOSE);
break;

void LCD() {
led.setCursor(5, 1);
led.print(secondlentM);
led.print(" ");
lcd.print(secondIcntS);
led.print(" ");
led.print(secondITIME);
led.print("  ");
led.print(INMainpattern);
led.setCursor(5, 0);
led.print(secondOcntM);
led.print(" ");
led.print(secondOcntS);
led.print(" ");
led.print(secondOTIME);
led.print("  ");
led.print(OUTMainpattern);

void proccesing() {
Serial.print("H"); /]~ ZXi%EEiE%E R TT)
Serial.write(outTime _c);// OUT 22— Rt v 5757 — X %{E
Serial.write(inTime c);// IN 22— X I V5 — X %=
Serial.write(outTime_m);// OUT 22— X537 — X i%{E
Serial.write(outTime_s);// OUT 2 — z;#0 57 — X %X(3
Serial.write(inTime_m); // IN 22— Z;537 — X %5
Serial.write(inTime_s); // IN 22— 2 fF — 2 %[

Serial.print("¥n');

void setup()

{
Serial.begin(250000);

pinMode(sensorl, INPUT PULLUP);



pinMode(sensor2, INPUT_PULLUP);

pinMode(sensor3, INPUT_PULLUP);

pinMode(sensor4, INPUT_PULLUP);

attachInterrupt(0, Sensorl, CHANGE);

attachInterrupt(1, Sensor2, CHANGE);

myservol.attach(12);

myservo2.attach(13);

lcd.begin(16, 2); // start the library
led.setCursor(0, 0);

led.print("OUT"); // print a simple message

led.setCursor(0, 1);  // move to the begining of the second line
led.print("IN");

//Timer2 EAZLE

MsTimer2::set(1, Timer2_Int); // 1ms 1 flash () EBA RBEE A FEOSH T RRICERE
MsTimer2::start(); [/ &A= —EYABBHIAR

void loop() {
MainIN();
MainOUT();
Servol();
Servo2();
LCD();

proccesing();



